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1. HEEIISY L [SWAY+2WAY] -=58 (H1210 x W2000 — SB5SE) £&XISAH "F2H'Y (HER HIEH 12
N *= ®139.8x4.5tx2500 1] & 118,000 118,000 118,000 118,000
S2X= ®125%4.3tx700 1] & 27,100 27,100 27,100 27,100
2Waydll & 350x4tx4330 0.5 & 176,800 88,400 176,800 88,400 |09 E2 L& 2MH It
3Wayd 460x3.2tx4330 0.5 & 231,000 115,500 231,000 115,500 Ot¥E2 E£= 2MEE It
S0t 389x4.3tx624 1 Jh 37,200 37,200 37,200 37,200
X =2 ®139.88 1 Jh 2,400 2,400 2,400 2,400
HZUE B/N ®19x180 3 ME 1,600 4,800 1,600 4,800
13 B/N ®18x40 4] HE 700 2,800 700 2,800
dgdeid B/N ®16x33 10 AE 400 4,000 400 4,000
2H(HIZEHI) 400,200 - - 400,200 |2024.01 H2HI12 P.264
X=Xl Sgo=2 0.038 | @l 214,222 8,160 214,222 8,160 |=Z4&EA1
2802 0.019 ol 165,545 3,153 165,545 3,153 |=Z4&EA1
dl A XiHl Sgo=L 0.134 | @l 214,222 28,762 214,222 28,762 |+=¥LEN2
2802 0.067 ol 165,545 11,113 165,545 11,113 |=Z&EAN2
S (EY0IH ZE) 0.6m® 0.038 | hr 25,459 967 55,700 2,116 34,509 1,311 115,668 4,394 [J1200H, =S AEA3
EOEH 2.5ton 0.105 hr 7,083 743 47,231 4,959 6,169 647 60,483 6,349 D120, =B A4
SHREZ oI E 9| 5% 1 4 2,559 2,559 2,559 2,559
2H(&XIHI) 4,269 58,263 1,958 64,490
A 404,469 58,263 1,958 464,690
* 'm"& C} 464,690 |/ 2m = 232,345
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2. HR(EEH HI210 =58) 8XBA"HA'Y (HES HIZH 72 - A=y Y
Xl = ®139.8%x4.5tx2500 0.5 =2 83,000 41,500 83,000 41,500
R ONES ®125%4.3tx700 0.5 =2 22,000 11,000 22,000 11,000
2way =g 350%x765%4.0T 1 M 88,000 88,000 88,000 88,000 OtH=3 L& EMZF Jts (WA
3way =g 460x865%3.2T 1 M 108,000 108,000 108,000 108,000 |[0HH=3 = SHMEET Jts (HEALE
SA0t= 389x4.3tx624 05 & 40,300 20,150 40,300 20,150
A= ®139.88 0.5 M 2,300 1,150 2,300 1,150
HBMUDE B/N ®19%180 1.5 AE 2,100 3,150 2,100 3,150
DA B/N ®18x40 4 HE 1,100 4,400 1,100 4,400
el etz B/N ®16x33 10 M E 900 9,000 900 9,000
23 (R ZHI) 286,350 - - 286,350
INES=P]:] Sgels 0.02 | ¢ 214,222 4,070 214,222 4,070 |E&E722 50%
2SR 0.01 el 165,545 1,572 165,545 1,672 EFE722 50%
dl & X Sgels 0.07 | & 214,222 14,374 214,222 14,374 | 2E=72t2 50%
2SR 0.03 | ¢ 165,545 5,562 165,545 5,662 |E&E72t2 50%
MS (2013 28 0.6m° 0.02 | hr 25,459 483 55,700 1,058 34,509 655 115,668 2,196 |E&72t2 50%
HZEH 2.5ton 0.05  hr 7,083 371 47,231 2,479 6,169 323 60,483 3,173 |E&72t2 50%
STE= QIS =2l 5% 1A 1,278 1,278 1,278 1,278
23 (& XIHI) 2,182 29,115 978 32,225
H 288,482 29,115 978 318,575
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3. HRE(EFE HI1210 =58) €XI3A "HA'Y (BES HIEH 22 - 2t2cy e
N = ®139.8x4.5tx2500 05 & 83,000 41,500 83,000 41,500
S2X= ®125x4.3tx700 05 =2 22,000 11,000 22,000 11,000
2way ct2=dY 350%x965%x4.0T 1 Oh 140,000 140,000 140,000 140,000 Ot9E3 E= 2HEE D
3way ct2&=d 460x965%3.2T 11 Jh 160,000 160,000 160,000 160,000 Ot9E3 E= 2MEE D
S0t 389x4.3tx624 0.5 & 40,300 20,150 40,300 20,150
K= ®139.88 0.5 M 2,300 1,150 2,300 1,150
HAZUE B/N ®19x180 1.5 AE 2,100 3,150 2,100 3,150
13 B/N ®18x%x40 4] HE 1,100 4,400 1,100 4,400
gz B/N ®16x33 4] HE 900 3,600 900 3,600
2H(HIZEHI) 384,950 - - 384,950 [2024.01 H2HIHZ P.264
X=4&Xdl Sgo=L 0.02 ol 214,222 4,070 214,222 4,070 |EET2 50%
2802 0.01 ol 165,545 1,572 165,545 1,572 HEET722 50%
dl A XiHl Sgo=L 0.07 ol 214,222 14,374 214,222 14,374 |E&722 50%
2802 0.03 ol 165,545 5,562 165,545 5,562 |EET2 50%
S (201 E£8) 0.6m3 0.02 hr 25,459 483 55,700 1,058 34,509 655 115,668 2,196 |E=772t2 50%
EOEH 2.5ton 0.05 hr 7,083 371 47,231 2,479 6,169 323 60,483 3,173 |E=72t2 50%
SHREZ oI E 9| 5% 1 4 1,278 1,278 1,278 1,278
2H(&XIHI) 2,132 29,115 978 32,225
A 387,082 29,115 978 417,175




J| =2 CH Jt =z
2l L 24 Z 8
ES A +2 | o gl 22
e O = o et = o e It = o e O = o
D 2A|(ELOIO1, 0.6m°, CHEIERI0IH Z&)-"AlMY
0.6m° 1 hr 25,681 25,680 25,681 25,680 %?)21\4ExAa:ffgggfigiio%zzi)xggg(?ooow
0.001W% S 1.6 | 1,770 20,532 1,770 20,532 |2024.01 Hehot2t P.1451
29| 24% 0.24 Al 20,532 4,927 20,532 4,927
&AL 0.208 el 267,360 55,700 267,360 55,700 1LIIEA2x& 0 H x5 X H 2=(1/8)x(16/12)x(25/20)
p 25,459 55,700 34,509 115,668
P HIZE(2 5t0n)-'Al2N'Y
0.001W% S 29 | 1,770 5,133 1,770 5,133 2024.01 H2}742{ P.1451
29| 38% 0.38 Al 5,133 1,950 5,133 1,950
At 0.208 | ¢l 226,709 47,231 226,709 47,231 | 12I1ZAIZxAH01 M 4x 8 X I %=(1/8)x(16/12)x(25/20)
p. 7,083 47,231 6,169 60,483
2024.1.17|& 1« - 214,222 214,222 214,222 214,222
2024.1.1J|% 1 - 165,545 165,545 165,545 165,545
AL H2F A 2024.1.10|% 1« - 267,360 267,360 267,360 267,360
SIS A 2024.1.10|% 1« - 226,709 226,709 226,709 226,709
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7T sE2 A =&
Sgeg 2Q1%2m/420m+4 0.038
288 101%2m/420m+4 0.019
Sgeg (401%2m/440m+401%2m/520m)*4 0.134
208 (291%2m/440m+221%2m/520m)*4 0.067
8 1H/210JHx8AI 2 0.038
TU*2m/420mx8Al 2t 0.038
10H*(2m/440m+2m/520m)x8Al 2 0.067
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